FORUR B EBR RIS K KR 2 20220k i i+ 7 4 >34k 1/1

HH : 202249 H25H (H) 28 WRURBEEESKKEG A A > 7 — /1 (50m)
No. 23 &+ 50m BHF B A LL—RREE R 26.69
 @RE >
B & £ T & 2E KK B FH
I e FLWL S =3 2/5 zig}g ( 0.62)
=3
2 M HEsE A-FinD =) 2/ 4 27.18 ( 0.71)
3 W)l R P-WOSH B2 2/ 7 28. 88 ( 0.62)
4 KT = A-FinD =2 2/ 9 30. 11 ( 0.69)
5 ¥ HE T LN 5 =2 2/ 8 30.53 ( 0.63)
6 faEdH H7e SPLASH &l 2/ 3 31.18 ( 0.65)
(A <Y A SPLASH &3 2/ 2 31.22 ( 0.69)
8 HH H¥ rad Y EHl 1/ 5 32.96 ( 0.76)
9 5k Iz SC B-WAVE =N 1/ 7 34.47 ( 0.77)
10 AT By B-WAVE = 1/ 4 35. 49 ( 0.65)
11 & &)Y JIAS = 1/ 3 35.74 ( 0.78)
12 HAT>< & FTLNLH =3 1/ 6 36. 01 ( 0.70)
13 AT s vy%r EHl 1/ 8 38.05 ( 0.96)
& AR #LMS C = 2/ 1 Sk (——— )

HAOHRME . 9H25H 14:34



